EREBETEHMN)-0F5T 2015/08/10 06:40

aUNE: B AY5A

Efaﬁﬁﬂif.lﬁ—g OUT1 STFQBHQE = IRGLRE T i%: FVIME

Hﬁ%ﬁ% ;Eg?&ﬁzgg >=7:99 BRI ;g%?-r gmig& 36 A

ouT g:i;-%:: (1)1
IN it 37T A

MR s emEE OuUT IN GROSS HDCP  NET wE
B ﬁ = 37 % 73 100 630
fﬁﬁﬁé%ﬁﬁ% = | oW = 80 | 140 | 660 |

3 B MEBV N 38 37 | 5 | 7.0 68.0

4 g 1= 98 L3 % | 70 | 69.0

5 ‘.%1% IE% | 38 40 | 8 90 69.0

6 ﬁzl: 7{%% 38 | 40 % | 90 | 690 |

(T Ll - o 41 42 83 | 14.0 | 69.0 |

8 xR FHx 39 | 39 78 80 1700 %

9 #II WET | a 41 82 120 700

10 ML FrE 46 | 39 % | 10 | 700 |

11 =# EE 41 36 | 7 60 | 710

12 a3 s | 90 | 710 |

13 3 M 44 | 43 8§ 160 | 7L0 |

14 Bl 28— | - Al 87 | 150 | 720

15 [k fh 43 | 45 88 160 720

ST N 40 | 42 T % |50 [ w0

17 FEHE Ak | 42 | 42 81 1.0 730

18 &H [E 46 38 84 | 10:0° ¢ 74.0 |

19 #7% Fnsh 48 43 ol 170 740

20 AR Ef 4 | 42 84 90 | 7.0 |

21 Bﬁn—‘%ﬂ G 44 41 85 100 750

22 & X 431D 85 100 | 150 |

23 X & 45 = 42 87 | 11.0 760

24 HHE FEARRS 45 | 42 87 1H0E 760

25 B4 # 16 | 42 88 | 12.0 | 76.0 |
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aA/NE: BRAW AZ7R
FfEEAR: 155%8AH9H (H)
fEEa—2: OUT IN IBGRES & FvME
Rk E: pERER EBENERL: 1:1\T1 SmAR
HDCPLR: Bi#:99 Zi%:99 +=7:99 2:5ERS 2 & 36 A
I i 1A
ouT =7 0A
IN 5 - 37T A
WA {1 EmER OUT |IN GROSS HDCP  NET i &
26 T, #E— 45 43 88 12.0 76.0
27 g —= 49 40 89 12.0 77.0
28 fExAK B 46 46 92 14.0 78.0
29 (R 52 44 96 17.0 79.0
30 YW H 44 50 94 14.0 80.0
31 fEQD 49 45 94 13.0 81.0
32 HE XH 47 43 90 8.0 82.0
33 &l FE 48 49 97 15.0 82.0
34 ERE RE 19 49 98 14.0 84.0
35 IEE KH 19 50 99 15.0 84.0
36  fARL B 50 45 95 10.0 85.0
37 BE boiH 59 39 98 10.0 88.0
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aoRE B BISR

BfEERR: 1558 A9H (A)

{EE3—Z: OUT IN IEGGRERE: 2VME

A% BEAR BEIRALI: 1.1\ T SmAR

HDCP_LFR: Bi%:99 #14:99 +=77:99 2:5ERR B i 18 A

i 1A
ouT =7 0A
IN § 19 A

| -l EmER OUT IN GROSS HDCP  NET W&

B NE SRR 43 41 84 23.0 61.0
HEBERS A T 44 45 89 23.0 66.0

3 Al B 38 44 82 15.0 67.0

4 SEH WE 42 44 86 18.0 68.0

5 e B 42 46 88 19.0 69.0

6 ZHiE Ek 52 43 95 25.0 70.0

T EH EX 48 43 91 18.0 73.0

8 #fT BB 48 48 96 23.0 73.0

9 E ek 48 49 97 23.0 74.0

10 FERE Hk 39 43 82 7.0 75.0

11 #)Il SE 41 43 84 g0 76.0

12 Ky R/F 47 48 95 19.0 76.0

13 B # 51 16 97 21.0 76.0

14 T =8+ 49 49 98 21.0 77.0

15 B = 52 46 98 20.0 78.0

16 #Ril SeHE 50 50 100 21.0 79.0

17 =FE IER 47 50 97 16.0 81.0

18 /NE RR 51 51 102 18.0 84.0

19 X% EF 48 50 98 22.0 76.0
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